



Quotation Summary

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C

Qty	Area	Hardware	Engineering	Total Area	Total
1	Room Booking - All Areas - 20no Consultation Rooms - 30no Meeting/Training Rooms	£ 46,577.73	£ 2,370.00	£ 48,947.73	£ 48,947.73
Ground Floor					
1	12 Person Meeting Room (R0.44)	£ 4,297.01	£ 987.50	£ 5,284.51	£ 5,284.51
5	4 Person Meeting Rooms (R0.58, R0.59, R0.60, R0.61, R0.62)	£ 3,743.47	£ 987.50	£ 4,730.97	£ 23,654.84
2	6 Person Meeting Rooms (R0.63, R0.64)	£ 4,688.47	£ 987.50	£ 5,675.97	£ 11,351.94
1	Flexible Training Room (R0.34) - Divisible Space	£ 105,616.51	£ 13,355.00	£ 118,971.51	£ 118,971.51
1	6 Person Training Room (R0.37)	£ 4,304.15	£ 1,185.00	£ 5,489.15	£ 5,489.15
2	10/12 Person Training Rooms (R0.35, R0.36)	£ 4,839.45	£ 1,185.00	£ 6,024.45	£ 12,048.90
1	Waiting Areas (R0.02 & R0.03)	£ 4,747.15	£ 1,308.75	£ 6,055.90	£ 6,055.90
First Floor					
5	4 Person Meeting Rooms (R1.15, R1.16, R1.17, R1.24, R1.27)	£ 3,795.97	£ 987.50	£ 4,783.47	£ 23,917.34
4	6 Person Meeting Rooms (R1.11, R1.12, R1.18, R1.19)	£ 3,895.97	£ 987.50	£ 4,883.47	£ 19,533.87
1	12 Person Meeting Room (R1.13, R1.14) - Divisible	£ 14,166.91	£ 4,657.50	£ 18,824.41	£ 18,824.41
1	24 Person Meeting Room (R1.26)	£ 19,300.52	£ 4,445.00	£ 23,745.52	£ 23,745.52
1	Large Meeting Pod (Top RHS on plan)	£ 4,327.47	£ 987.50	£ 5,314.97	£ 5,314.97
1	Furniture Pod (R1.55)	£ 1,286.81	£ 395.00	£ 1,681.81	£ 1,681.81
1	Reception - Visitor Check in and Wayfinding	£ 12,148.18	£ 1,185.00	£ 13,333.18	£ 13,333.18
1	Preliminaries		£ 33,710.00	£ 33,710.00	£ 33,710.00
	Wireless Device Option (Unit Price Quoted)				Options
QUOTATION TOTAL					£ 371,865.57

	Optional proAV Support Contract			Total
1	proAV 12 Month Support Contract, Year 1			Pricing available on request

PLEASE NOTE

Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.

Standard Terms & Conditions:

This quotation is valid for a period of 30 days from the document date.
 All prices are quoted in Pound Sterling and exclude VAT, (where applicable) which will be added at today's ruling rate.
 All similar or replacement taxes anywhere in the world and are also exclusive of any customs, import, export or other duties we may be charged in the course of providing the goods or services.
 All such taxes and duties will be added to the quoted prices.
 Unless stated all prices are ex-works and do not include any delivery cost.
 The standard terms and conditions of proAV® Ltd apply - please request a copy should you not be in possession.
 Please note that the property in the products shall not pass to the Buyer until payment in full for such products has been received by the Seller.

Standard Payment Terms:

- 30% - With receipt of order
- 30% - Following completion of 1st fix installation and off site testing
- 30% - Following completion of 2nd fix installation, on site testing and sign off
- 10% - 30 Days after sign off

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 44820
Quotation Reference: 265252_REV C

Subject to confirmation following receipt of project programme

Item	Description	Qty	Item	Rate	Weighted Total
1	<u>Pre-Construction</u>				
	Project Management	6	Weeks	£ 2,950.00	£ 5,310.00
	Technical Manager	6	Weeks	£ 2,475.00	£ 2,970.00
	Project Coordinator / Administration	6	Weeks	£ 1,625.00	£ 390.00
	CAD	6	Weeks	£ 1,925.00	£ 1,732.50
2	<u>Construction</u>				
	Project Management	10	Weeks	£ 2,950.00	£ 5,900.00
	Site Manager	10	Weeks	£ 2,300.00	£ 9,200.00
	Technical Manager	10	Weeks	£ 2,475.00	£ 1,237.50
	CAD	1	Weeks	£ 1,925.00	£ 385.00
2c	<u>Commissioning:</u>				
	AV/IT Integration	1	Weeks	£ 3,125.00	£ 3,125.00
3	Delivery / Transportation	10	Item	£ 120.00	£ 1,200.00
4	Rubbish Removal	1	Item	£ 200.00	£ 200.00
5	O&M / Occupiers	1	Lot	£ 450.00	£ 450.00
6	O&M / User Guides	2	Lot	£ 580.00	£ 1,160.00
7	Training	1	Days	£ 450.00	£ 450.00
	> further training can be added as reqd				
Preliminaries Total to Summary Sheet					£ 33,710.00

PLEASE NOTE

Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: Room Booking - All Areas- 20no Consultation Rooms- 30no Meeting/Training Rooms

Qty	Make	Model	Description	Unit £	Total £
Room Booking					
50	Condeco	ROOM08	Room Screen Purchase	£ 700.00	£ 35,000.00
50	Condeco	ROOM06	Connector Subscription for MS Office 365 / Exchange - Annual Charge based on a 3 year contract	£ 105.88	£ 5,294.12
50	Condeco	SCRM01	Room Screen Management and Support - Annual Charge based on a 3 year contract	£ 105.88	£ 5,294.12
50	Condeco	ACCE01	Touch Glass Mounting Kit	£ 12.65	£ 632.35
Network Switch					
<i>It is understood any required network switch provision will be supplied by the client with their preferred switch manufacturer - our AVIT team can advise on minimum specification requirements relevant to the project</i>					
ELV High Band Width Cabling & Connectivity					
50	Set	-	Cables, connectors & materials	£ 7.14	£ 357.14
EQUIPMENT / HARDWARE TOTAL					£ 46,577.73
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
6	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 2,370.00
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
	proAV	Services	Training	£ 450.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 2,370.00
SYSTEM TOTAL					£ 48,947.73
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: 12 Person Meeting Room (R0.44)

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
1	Samsung	LH65QMBEBGCXEN	65", Black, Large Format Display, 4K UHD, 500 cd/m2, 24/7 Operation, 3x HDMI and 2x USB	£ 1,058.82	£ 1,058.82
1	B-Tech	BT8432/B	Large tilting flat panel wall mount, 49"- 80", max weight 70kg - Black, Includes Safety screws	£ 70.74	£ 70.74
Source & Interfacing Equipment					
1	Avplates	18416	Floor Plate with HDMI and USB Interface Plate	£ 93.75	£ 93.75
Video / Audio Conferencing Equipment					
1	Poly	7230-87710-102	Polycom Studio Small/Medium Room Kit	£ 1,475.32	£ 1,475.32
1	Poly	7230-86040-001	Poly Studio USB Mounting Bracket for Monitor	£ 125.71	£ 125.71
1	Poly	487P-87710-312	Poly+, Three Year, Poly Small/Mid Room Kit includes: Poly Studio USB video bar, GC8 touch controller. Poly supplied PC supported for first three years only.	£ 337.26	£ 337.26
1	Poly	7230-87630-102	Poly Room kit PC	£ 1,028.26	£ 1,028.26
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 107.14	£ 107.14
EQUIPMENT / HARDWARE TOTAL					£ 4,297.01
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
0.5	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 197.50
2	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 790.00
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
	proAV	Services	Training	£ 450.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 987.50
SYSTEM TOTAL					£ 5,284.51
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: 4 Person Meeting Rooms (R0.58, R0.59, R0.60, R0.61, R0.62)

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
1	Samsung	LH43QMBEPGCXEN	43", Black, Large Format Display, 4K UHD, 500 cd/m2 , 24/7 Operation, 3x HDMI and 2x USB	£ 605.88	£ 605.88
1	B-Tech	BT8431/B	Universal Flat Screen Wall Mount With Tilt	£ 58.35	£ 58.35
Source & Interfacing Equipment					
1	Avplates	18416	Floor Plate with HDMI and USB Interface Plate	£ 41.25	£ 41.25
Video / Audio Conferencing Equipment					
1	Poly	7230-87710-102	Polycom Studio Small/Medium Room Kit	£ 1,475.32	£ 1,475.32
1	Poly	7230-86040-001	Poly Studio USB Mounting Bracket for Monitor	£ 125.71	£ 125.71
1	Poly	487P-87710-312	Poly+, Three Year, Poly Small/Mid Room Kit includes: Poly Studio USB video bar, GC8 touch controller. Poly supplied PC supported for first three years only.	£ 337.26	£ 337.26
1	Poly	7230-87630-102	Poly Room kit PC	£ 1,028.26	£ 1,028.26
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 71.43	£ 71.43
EQUIPMENT / HARDWARE TOTAL					£ 3,743.47
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
0.5	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 197.50
2	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 790.00
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
	proAV	Services	Training	£ 450.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 987.50
SYSTEM TOTAL					£ 4,730.97
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: 6 Person Meeting Rooms (R0.63, R0.64)

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
1	Samsung	LH55QMBEBGCXEN	55", Black, Large Format Display, 4K UHD, 500 cd/m2,24/7 Operation, 3x HDMI and 2x USB	£ 705.88	£ 705.88
1	B-Tech	BT8431/B	Universal Flat Screen Wall Mount With Tilt	£ 58.35	£ 58.35
Source & Interfacing Equipment					
1	Avplates	18416	Floor Plate with HDMI and USB Interface Plate	£ 41.25	£ 41.25
1	Extron	70-1046-02	Cable Cubby 700, Black, No AC	£ 291.25	£ 291.25
1	Extron	60-1385-02	AC Module, UK	£ 97.50	£ 97.50
2	Extron	60-1783-02	USB-C USB-A PowerPlate AAP	£ 210.00	£ 420.00
1	Extron	70-100-11	Double Space AAP - Black: Two RJ-45 Female to Female Barrels - CAT 5e	£ 36.25	£ 36.25
Video / Audio Conferencing Equipment					
1	Poly	7230-87710-102	Polycom Studio Small/Medium Room Kit	£ 1,475.32	£ 1,475.32
1	Poly	7230-86040-001	Poly Studio USB Mounting Bracket for Monitor	£ 125.71	£ 125.71
1	Poly	487P-87710-312	Poly+, Three Year, Poly Small/Mid Room Kit includes: Poly Studio USB video bar, GC8 touch controller. Poly supplied PC supported for first three years only.	£ 337.26	£ 337.26
1	Poly	7230-87630-102	Poly Room kit PC	£ 1,028.26	£ 1,028.26
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 71.43	£ 71.43
EQUIPMENT / HARDWARE TOTAL					£ 4,688.47
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
0.5	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 197.50
2	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 790.00
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 987.50
SYSTEM TOTAL					£ 5,675.97
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: Flexible Training Room (R0.34) - Divisible Space

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
3	Clevertouch	15486UXPRO2	85" Clevertouch Interactive Displays	£ 5,332.94	£ 15,998.82
3	BalanceBox	484A08	BALBOX650HDBUND Manual Height Adjustable Mounting Heavy Duty Wall Riser inc VESA Mount for 800 x 600 Screen (Bundle includes: 484A08 & 481A70)	£ 936.25	£ 2,808.75
3	BalanceBox	481A13	BALBOX650FLOSUP Floor Support for Height Adjustable	£ 233.34	£ 700.01
1	Panasonic	PT-MZ780WEJ	7000 ANSI Lumens, Laser, WUXGA , Installation Projector, 18.6 kg	£ 4,998.75	£ 4,998.75
1	Euroscreen	SETIN2417-W	Euroscreen Ceiling Recessed Tensioned Sesame 230 x 129.5	£ 1,708.86	£ 1,708.86
1	Euroscreen	211030-ER-UK	Control Box - ER - With UK Plug	£ 165.00	£ 165.00
1	Unicol	CP1	Ceiling Plate	£ 25.11	£ 25.11
1	Unicol	2000	2m Column	£ 56.88	£ 56.88
1	Unicol	PSU	Projector Suspension Unit	£ 120.75	£ 120.75
1	Unicol	TD	Trim Disk	£ 6.06	£ 6.06
Source & Interfacing Equipment					
7	proAV	Custom	Custom Floor Plates: 3 in North Room 2 in Central 2 in South Room	£ 93.75	£ 656.25
3	Kramer	VIA-CONNECT-PRO	Wireless Presentation and Collaboration Solution	£ 608.18	£ 1,824.53
3	Beyerdynamic	725080	MPR-210W Revoluto Microphone - On Lectern Top	£ 466.51	£ 1,399.54
1	Sennheiser	505893	Lapel Mic - SL Lavalier Set DW-3-UK Rackmount Kit	£ 1,048.75	£ 1,048.75
1	Catchbox	Custom	Catchbox - Large Presentation - Audience microphone with wireless charger and Custom Cover	£ 737.50	£ 737.50
3	Clevertouch	1521064	OPS PC i7-10510U 16GB 250GB SSD AX200 WIFI Win 10 PROinc 1Yr RTB	£ 882.22	£ 2,646.67
3	Logitech	920-004523	Wireless Mouse and Keyboard Set (2.4GHz)	£ 47.90	£ 143.70



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: Flexible Training Room (R0.34) - Divisible Space

Qty	Make	Model	Description	Unit £	Total £
Video / Audio Conferencing Equipment					
3	Poly	2200-30780-001	Poly GC8 Touch Control	£ 937.51	£ 2,812.52
3	Poly	7230-87630-102	Poly Room Kit PC - Dell Optiplex	£ 1,094.26	£ 3,282.77
3	Poly	4870-30780-158	Partner Premier Onsite 1Yr POLY GC8	£ 135.56	£ 406.68
3	Poly	2457-30757-125	25M active optical USB 3.1 cable, Type A to C. Slim type C connector shell	£ 723.88	£ 2,171.65
7	Aver	61S3100000AK	Professional PTZ Camera - Black: 3 In North Room 2 In Central 2 In South	£ 1,382.55	£ 9,677.85
4	Aver	60S3300000AD	Ceiling Mount	£ 52.84	£ 211.35
3	Aver	60V2B10000AL	SVC Camera Wall Mount	£ 50.93	£ 152.78
3	Biamp	MRB-L-VT4-C	Certified large room bundle with white ceiling microphones	£ 6,075.00	£ 18,225.00
3	Biamp	TCM-XA	Ceiling Microphone with Amplifier	£ 1,650.00	£ 4,950.00
6	Biamp	C-IC6	Ceiling Speakers	£ 135.00	£ 810.00
3	Kramer	VS-411XS	4x1 4K HDR HDMI Intelligent Auto Switcher: Camera switching in each room pre UC engine	£ 426.75	£ 1,280.25
3	Inogeni	INO-4K2USB3	USB Converter with HDMI® and Analog Audio Input	£ 400.00	£ 1,200.00
1	Kramer	TP-580T	4K60 4:2:0 HDMI HDCP 2.2 Transmitter with RS-232 & IR over Long-Reach HDBaseT - Large Room Presenter Camera	£ 149.25	£ 149.25
1	Kramer	TP-580R	4K60 4:2:0 HDMI HDCP 2.2 Receiver with RS-232 & IR over Long-Reach HDBase - Large Room Presenter Camera Mount	£ 149.25	£ 149.25
System Switching & Distribution Equipment					
3	Lightware	VINX-120AP-HDMI-ENC	IP based encoder with PoE via a Gigabit Ethernet network. HDMI local output, Analog audio input/output. 4K / UHD (30Hz RGB 4:4:4 , 60Hz YCbCr 4:2:0) are supported. Advanced EDID Management. USB HID and 2.0 mass storage data support, HDCP2.2 compliant, RS-232 and IR support.: 3 x UC Engine Output	£ 772.50	£ 2,317.50
4	Lightware	VINX-110AP-HDMI-DEC	IP based decoder with PoE via a Gigabit Ethernet network. Analog audio input/output. 4K / UHD (30Hz RGB 4:4:4 , 60Hz YCbCr 4:2:0) are supported. Built-in scaler with videowall function. Advanced EDID Management. USB HID and 2.0 mass storage data support, HDCP2.2 compliant, RS-232 and IR support.: 3 x Displays 1 x Projector	£ 772.50	£ 3,090.00
3	Kramer	VS-411XS	4x1 4K HDR HDMI Intelligent Auto Switcher: Camera switching in each room pre UC engine	£ 426.75	£ 1,280.25
3	Kramer	TP-580T	4K60 4:2:0 HDMI HDCP 2.2 Transmitter with RS-232 & IR over Long-Reach HDBaseT - Feed to GC8	£ 149.25	£ 447.75
3	Kramer	TP-580R	4K60 4:2:0 HDMI HDCP 2.2 Receiver with RS-232 & IR over Long-Reach HDBase - Feed to GC8	£ 149.25	£ 447.75
Audio Amplification & Speakers					
1	Biamp	REVAMP4120T	4 Channel 120W 100V Amplifier	£ 826.88	£ 826.88
4	Biamp	CM20DT	6.5" Two-way 70V/100V Ceiling Loudspeaker	£ 57.49	£ 229.95

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: Flexible Training Room (R0.34) - Divisible Space

Qty	Make	Model	Description	Unit £	Total £
Assistive Listening Equipment					
3	Ampetronic	C7-2	MultiLoop hearing loop driver	£ 1,225.00	£ 3,675.00
6	Ampetronic	ACFB100U18	Flat copper tape	£ 118.49	£ 710.93
12	Ampetronic	ACWP50	Printed warning tape	£ 31.24	£ 374.85
3	Ampetronic	Design	Design Fee per area	£ 175.00	£ 525.00
User Interface & Control Equipment					
1	AMX	NX-3200	AV Controller	£ 1,494.23	£ 1,494.23
1	AMX	FG423-48-EK	PSR5.4 - Power Supply	£ 102.73	£ 102.73
3	AMX	TPC-IPAD	TPControl Application License For one Apple iPad	£ 605.88	£ 1,817.63
3	Apple	MK2K3BA	IPAD 10.2" 64GB WIFI - SPACE GREY - One per room	£ 343.75	£ 1,031.25
3	iPort	42029219	Port Connect Pro Case for 10.2" iPad, black finish - 9th Gen 8th Gen 7th Gen compatible	£ 161.05	£ 483.15
3	iPort	83025000	iPort Connect Pro WallStation, black finish	£ 201.31	£ 603.94
Network Switch					
<i>It is understood any required network switch provision will be supplied by the client with their preferred switch manufacturer - our AVIT team can advise on minimum specification requirements relevant to the project</i>					
Equipment Rack, Mounts & Sundries					
3	Penn Elcom	R6612-M6	WM Rack, 600mm x 12U, Glass Door, M6, Black R6612-M6	£ 164.01	£ 492.04
3	Penn Elcom	PDU16-10DJ-UK	1U 16A 10-Channel Power Distribution Unit (UK) PDU16-10DJ-UK	£ 159.03	£ 477.08
3	proAV	Custom	Rack Consumables	£ 43.75	£ 131.25
3	Avenue	AvP.300	Striking Podium Lectern	£ 938.75	£ 2,816.25
1	Penn Elcom	R4066-V-32UK	32U Rack Enclosure Vented Door M6 Rail - Potentially Housed in the AV Store/IT Room	£ 501.59	£ 501.59
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 1,214.29	£ 1,214.29
EQUIPMENT / HARDWARE TOTAL					£ 105,616.51



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: Flexible Training Room (R0.34) - Divisible Space

Qty	Make	Model	Description	Unit £	Total £
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
3	proAV	Services	Rack Assembly / Wiring / Continuity Test	£ 395.00	£ 1,185.00
6	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 2,370.00
12	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 4,740.00
4	proAV	Services	Control Programming	£ 625.00	£ 2,500.00
1	proAV	Services	AV/IT Integration	£ 625.00	£ 625.00
3	proAV	Services	Commissioning	£ 495.00	£ 1,485.00
1	proAV	Services	Training	£ 450.00	£ 450.00
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 13,355.00
SYSTEM TOTAL					£ 118,971.51
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: 6 Person Training Room (R0.37)

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
1	Samsung	LH65QMBEBGCXEN	65", Black, Large Format Display, 4K UHD, 500 cd/m2, 24/7 Operation, 3x HDMI and 2x USB	£ 1,058.82	£ 1,058.82
1	B-Tech	BT8432/B	Large tilting flat panel wall mount, 49"- 80", max weight 70kg - Black, Includes Safety screws	£ 70.74	£ 70.74
Source & Interfacing Equipment					
1	Avplates	18416	Floor Plate with HDMI and USB Interface Plate	£ 93.75	£ 93.75
Video / Audio Conferencing Equipment					
1	Poly	7230-87710-102	Polycom Studio Small/Medium Room Kit	£ 1,475.32	£ 1,475.32
1	Poly	7230-86040-001	Poly Studio USB Mounting Bracket for Monitor	£ 125.71	£ 125.71
1	Poly	487P-87710-312	Poly+, Three Year, Poly Small/Mid Room Kit includes: Poly Studio USB video bar, GC8 touch controller. Poly supplied PC supported for first three years only.	£ 337.26	£ 337.26
1	Poly	7230-87630-102	Poly Room kit PC	£ 1,028.26	£ 1,028.26
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 114.29	£ 114.29
EQUIPMENT / HARDWARE TOTAL					£ 4,304.15
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
1	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 395.00
2	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 790.00
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
	proAV	Services	Training	£ 450.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 1,185.00
SYSTEM TOTAL					£ 5,489.15
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: 10/12 Person Training Rooms (R0.35, R0.36)

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
1	Samsung	LH75QMBEBGCXEN	75", Black, Large Format Display, 4K UHD, 500 cd/m2, 24/7 Operation, 3x HDMI and 2x USB	£ 1,594.12	£ 1,594.12
1	B-Tech	BT8432/B	Large tilting flat panel wall mount, 49"- 80", max weight	£ 70.74	£ 70.74
Source & Interfacing Equipment					
1	Avplates	18416	Floor Plate with HDMI and USB Interface Plate	£ 93.75	£ 93.75
Video / Audio Conferencing Equipment					
1	Poly	7230-87710-102	Polycom Studio Small/Medium Room Kit	£ 1,475.32	£ 1,475.32
1	Poly	7230-86040-001	Poly Studio USB Mounting Bracket for Monitor	£ 125.71	£ 125.71
1	Poly	487P-87710-312	Poly+, Three Year, Poly Small/Mid Room Kit includes: Poly Studio USB video bar, GC8 touch controller. Poly supplied PC supported for first three years only.	£ 337.26	£ 337.26
1	Poly	7230-87630-102	Poly Room kit PC	£ 1,028.26	£ 1,028.26
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 114.29	£ 114.29
EQUIPMENT / HARDWARE TOTAL					£ 4,839.45
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
1	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 395.00
2	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 790.00
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
	proAV	Services	Training	£ 450.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation	£ -	In Prelims
ENGINEERING / LABOUR TOTAL					£ 1,185.00
SYSTEM TOTAL					£ 6,024.45
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: Waiting Areas (R0.02 & R0.03)

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
2	Samsung	LH65QMBEBGCXEN	65", Black, Large Format Display, 4K UHD, 500 cd/m2, 24/7 Operation, 3x HDMI and 2x USB	£ 1,058.82	£ 2,117.65
2	B-Tech	BT8432/B	Large tilting flat panel wall mount, 49"- 80", max weight 70kg - Black, Includes Safety screws	£ 70.74	£ 141.48
1	Samsung	HG50EJ690YBXXU	50" 4K UHD Commercial TV (using existing mount)	£ 532.68	£ 532.68
Source & Interfacing Equipment					
2			TV aerial outlet at screen position		By Others
Building TV aerial and local outlet socket at TV position; by others					
2	Sedao	1650158UK	SL-Pro V4 Signage Player	£ 956.25	£ 1,912.50
ELV High Band Width Cabling & Connectivity					
2	Set	-	Cables, connectors & materials	£ 21.43	£ 42.86
EQUIPMENT / HARDWARE TOTAL					£ 4,747.15
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
1	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 395.00
2	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 790.00
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
0.25	proAV	Services	Commissioning	£ 495.00	£ 123.75
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 1,308.75
SYSTEM TOTAL					£ 6,055.90
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: 4 Person Meeting Rooms (R1.15, R1.16, R1.17, R1.24, R1.27)

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
1	Samsung	LH43QMBEPGCXEN	43", Black, Large Format Display, 4K UHD, 500 cd/m2 , 24/7 Operation, 3x HDMI and 2x USB	£ 605.88	£ 605.88
1	B-Tech	BT8431/B	Universal Flat Screen Wall Mount With Tilt	£ 58.35	£ 58.35
Source & Interfacing Equipment					
1	Avplates	18416	Floor Plate with HDMI and USB Interface Plate	£ 93.75	£ 93.75
Video / Audio Conferencing Equipment					
1	Poly	7230-87710-102	Polycom Studio Small/Medium Room Kit	£ 1,475.32	£ 1,475.32
1	Poly	7230-86040-001	Poly Studio USB Mounting Bracket for Monitor	£ 125.71	£ 125.71
1	Poly	487P-87710-312	Poly+, Three Year, Poly Small/Mid Room Kit includes: Poly Studio USB video bar, GC8 touch controller. Poly supplied PC supported for first three years only.	£ 337.26	£ 337.26
1	Poly	7230-87630-102	Poly Room kit PC	£ 1,028.26	£ 1,028.26
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 71.43	£ 71.43
EQUIPMENT / HARDWARE TOTAL					£ 3,795.97
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
0.5	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 197.50
2	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 790.00
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
	proAV	Services	Training	£ 450.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 987.50
SYSTEM TOTAL					£ 4,783.47
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: 6 Person Meeting Rooms (R1.11, R1.12, R1.18, R1.19)

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
1	Samsung	LH55QMBEBGCXEN	55", Black, Large Format Display, 4K UHD, 500 cd/m2,24/7 Operation, 3x HDMI and 2x USB	£ 705.88	£ 705.88
1	B-Tech	BT8431/B	Universal Flat Screen Wall Mount With Tilt	£ 58.35	£ 58.35
Source & Interfacing Equipment					
1	Avplates	18416	Floor Plate with HDMI and USB Interface Plate	£ 93.75	£ 93.75
Video / Audio Conferencing Equipment					
1	Poly	7230-87710-102	Polycom Studio Small/Medium Room Kit	£ 1,475.32	£ 1,475.32
1	Poly	7230-86040-001	Poly Studio USB Mounting Bracket for Monitor	£ 125.71	£ 125.71
1	Poly	487P-87710-312	Poly+, Three Year, Poly Small/Mid Room Kit includes: Poly Studio USB video bar, GC8 touch controller. Poly supplied PC supported for first three years only.	£ 337.26	£ 337.26
1	Poly	7230-87630-102	Poly Room kit PC	£ 1,028.26	£ 1,028.26
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 71.43	£ 71.43
EQUIPMENT / HARDWARE TOTAL					£ 3,895.97
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
0.5	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 197.50
2	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 790.00
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
	proAV	Services	Training	£ 450.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 987.50
SYSTEM TOTAL					£ 4,883.47
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: 12 Person Meeting Room (R1.13, R1.14) - Divisible

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
2	Samsung	LH75QMBEBGCXEN	75", Black, Large Format Display, 4K UHD, 500 cd/m2, 24/7 Operation, 3x HDMI and 2x USB	£ 1,594.12	£ 3,188.24
2	B-Tech	BT8432/B	Large tilting flat panel wall mount, 49"- 80", max weight	£ 70.74	£ 141.48
Source & Interfacing Equipment					
2	Avplates	18416	Floor Plate with HDMI and USB Interface Plate	£ 93.75	£ 187.50
Video / Audio Conferencing Equipment					
2	Poly	7230-87710-102	Polycom Studio Small/Medium Room Kit	£ 1,475.32	£ 2,950.65
2	Poly	7230-86040-001	Poly Studio USB Mounting Bracket for Monitor	£ 125.71	£ 251.43
2	Poly	487P-87710-312	Poly+, Three Year, Poly Small/Mid Room Kit includes: Poly Studio USB video bar, GC8 touch controller. Poly supplied PC supported for first three years only.	£ 337.26	£ 674.52
2	Poly	7230-87630-102	Poly Room kit PC	£ 1,028.26	£ 2,056.52
System Switching & Distribution Equipment					
1	Kramer	VM-2H2	1:2 4K HDR HDMI DA	£ 276.75	£ 276.75
1	Kramer	TP-580T	4K60 4:2:0 HDMI HDCP 2.2 Transmitter with RS-232 & IR	£ 149.25	£ 149.25
1	Kramer	TP-580R	4K60 4:2:0 HDMI HDCP 2.2 Receiver with RS-232 & IR over Long-Reach HDBase - Large Room Presenter Camera Mount	£ 149.25	£ 149.25
1	Kramer	VS-411XS	4x1 4K HDR HDMI Intelligent Auto Switcher	£ 426.75	£ 426.75
User Interface & Control Equipment					
1	Kramer	SL-1N	7-port Serial, IR, and Relay, Ethernet Room Controller	£ 216.75	£ 216.75
1	Farnell	PTI21220	Magnetic Sensor	£ 34.38	£ 34.38
Network Switch					
<i>It is understood any required network switch provision will be supplied by the client with their preferred switch manufacturer - our AVIT team can advise on minimum specification requirements relevant to the project</i>					
Assistive Listening Equipment					
2	Ampetronic	C7-2	MultiLoop hearing loop driver	£ 1,225.00	£ 2,450.00
3	Ampetronic	ACFB100U18	Flat copper tape	£ 118.49	£ 355.46
3	Ampetronic	ACWP50	Printed warning tape	£ 31.24	£ 93.71
2	Ampetronic	Design	Design Fee per area	£ 175.00	£ 350.00
ELV High Band Width Cabling & Connectivity					
2	Set	-	Cables, connectors & materials	£ 107.14	£ 214.29
EQUIPMENT / HARDWARE TOTAL					£ 14,166.91



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: 12 Person Meeting Room (R1.13, R1.14) - Divisible

Qty	Make	Model	Description	Unit £	Total £
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
6	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 2,370.00
5	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 1,975.00
0.5	proAV	Services	Control Programming	£ 625.00	£ 312.50
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
	proAV	Services	Training	£ 450.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 4,657.50
SYSTEM TOTAL					£ 18,824.41
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: 24 Person Meeting Room (R1.26)

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
2	Samsung	LH75QMBEBGCXEN	75", Black, Large Format Display, 4K UHD, 500 cd/m2, 24/7 Operation, 3x HDMI and 2x USB	£ 1,693.75	£ 3,387.50
2	B-Tech	BT8432/B	Large tilting flat panel wall mount, 49"- 80", max weight 70kg - Black, Includes Safety screws	£ 70.74	£ 141.48
Source & Interfacing Equipment					
1	Avplates	18416	Floor Plate with HDMI and USB Interface Plate	£ 93.75	£ 93.75
Video / Audio Conferencing Equipment					
1	Poly	7230-87720-102	Polycom Studio Large Room Kit	£ 2,399.95	£ 2,399.95
1	Poly	7230-86040-001	Poly Studio USB Mounting Bracket for Monitor	£ 125.71	£ 125.71
1	Poly	487P-87720-312	Poly+, Three Year, Poly Large Room Kit includes: Poly E70 camera, GC8 touch controller. Poly supplied PC supported for first three years only.	£ 900.38	£ 900.38
1	Poly	7230-87630-102	Poly Room kit PC	£ 1,279.00	£ 1,279.00
1	BIAMP	913.1733.900	MRB-L-VT4-C - Certified large room bundle; includes 1 TesiraFORTE AVB VT4, 1 TesiraCONNECT TC-5, 1 Tesira EX-UBT, 1 Parlé TCM-XA, 1 Parlé TCM-XEX, 2 pair of Desono C-IC6 loudspeakers, Cat5 cables of varying length	£ 6,378.75	£ 6,378.75
1	BIAMP	913.0498.900	AVB Beamtracking™ ceiling microphone, white surface mount	£ 1,417.50	£ 1,417.50
1	BIAMP	913.0500.900	Expansion AVB Beamtracking ceiling microphone, white surface mount	£ 905.63	£ 905.63
Assistive Listening Equipment					
1	Ampetronic	C7-2	MultiLoop hearing loop driver	£ 1,225.00	£ 1,225.00
2	Ampetronic	ACFB100U18	Flat copper tape	£ 118.49	£ 236.98
2	Ampetronic	ACWP50	Printed warning tape	£ 31.24	£ 62.48
1	Ampetronic	Design	Design Fee per area	£ 175.00	£ 175.00
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 571.43	£ 571.43
EQUIPMENT / HARDWARE TOTAL					£ 19,300.52



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: 24 Person Meeting Room (R1.26)

Qty	Make	Model	Description	Unit £	Total £
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
6	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 2,370.00
4	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 1,580.00
1	proAV	Services	Commissioning	£ 495.00	£ 495.00
	proAV	Services	Training	£ 450.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL				£	4,445.00
SYSTEM TOTAL				£	23,745.52
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: Large Meeting Pod (Top RHS on plan)

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
1	Samsung	LH65QMBEBGCXEN	65", Black, Large Format Display, 4K UHD, 500 cd/m2, 24/7 Operation, 3x HDMI and 2x USB	£ 1,125.00	£ 1,125.00
1	B-Tech	BT8432/B	Large tilting flat panel wall mount, 49"- 80", max weight	£ 70.74	£ 70.74
Source & Interfacing Equipment					
1	Avplates	18416	Floor Plate with HDMI and USB Interface Plate	£ 93.75	£ 93.75
Video / Audio Conferencing Equipment					
1	Poly	7230-87710-102	Polycom Studio Small/Medium Room Kit	£ 1,475.32	£ 1,475.32
1	Poly	7230-86040-001	Poly Studio USB Mounting Bracket for Monitor	£ 125.71	£ 125.71
1	Poly	487P-87710-312	Poly+, Three Year, Poly Small/Mid Room Kit includes:	£ 337.26	£ 337.26
1	Poly	7230-87630-102	Poly Room kit PC	£ 1,028.26	£ 1,028.26
Network Switch					
It is understood any required network switch provision will be supplied by the client with their preferred switch manufacturer - our AVIT team can advise on minimum specification requirements relevant to the project					
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 71.43	£ 71.43
EQUIPMENT / HARDWARE TOTAL					£ 4,327.47
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
0.5	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 197.50
2	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 790.00
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
	proAV	Services	Training	£ 450.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 987.50
SYSTEM TOTAL					£ 5,314.97
Price excludes VAT Subject to Site Survey E & OE PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: Furniture Pod (R1.55)

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
1	Samsung	LH65QMBEBGCXEN	65", Black, Large Format Display, 4K UHD, 500 cd/m2, 24/7 Operation, 3x HDMI and 2x USB	£ 1,125.00	£ 1,125.00
1	B-Tech	BT8432/B	Large tilting flat panel wall mount, 49"- 80", max weight	£ 70.74	£ 70.74
Source & Interfacing Equipment					
1	proAV	Custom	HDMI Input plate	£ 62.50	£ 62.50
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 28.57	£ 28.57
EQUIPMENT / HARDWARE TOTAL					£ 1,286.81
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
0.5	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 197.50
0.5	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 197.50
	proAV	Services	Training	£ 450.00	In Prelims
	proAV	Services	O&M / User Guides	£ 580.00	In Prelims
	proAV	Services	Delivery/Transportation	£ -	In Prelims
ENGINEERING / LABOUR TOTAL					£ 395.00
SYSTEM TOTAL					£ 1,681.81
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: Reception - Visitor Check in and Wayfinding

Qty	Make	Model	Description	Unit £	Total £
Display Equipment & Mounting Hardware					
1	Samsung	LH43QMBEPGCXEN	43", Black, Large Format Display, 4K UHD, 500 cd/m2 , 24/7 Operation, 3x HDMI and 2x USB	£ 643.75	£ 643.75
1	B-Tech	BT8431/B	Universal Flat Screen Wall Mount With Tilt	£ 58.35	£ 58.35
1	Sedao	1650158UK	SL-Pro V4 Signage Player	£ 956.25	£ 956.25
1	Apple	MK2K3BA	Apple iPad 10.2" 64GB WiFi - Space Grey (2021)	£ 328.75	£ 328.75
1	BouncePad	Bouncepad Flex	Black Faceplate Access: Exposed Front Camera and Home Button Tablet: Apple iPad 8th & 9th Gen 10.2 (2020 - 2021)	£ 214.65	£ 214.65
Visitor Check In Software					
1	Condeco	PROX03	Proxyclick - Enterprise	£ 6,750.00	£ 6,750.00
1	Condeco	SERVPROX01	Proxyclick Onboarding Pack - Growth	£ 3,125.00	£ 3,125.00
Network Switch					
<i>It is understood any required network switch provision will be supplied by the client with their preferred switch manufacturer - our AVIT team can advise on minimum specification requirements relevant to the project</i>					
ELV High Band Width Cabling & Connectivity					
1	Set	-	Cables, connectors & materials	£ 71.43	£ 71.43
EQUIPMENT / HARDWARE TOTAL					£ 12,148.18
Breakdown of Engineering Services					
	proAV	Services	Project Management	£ 590.00	In Prelims
	proAV	Services	Site Manager	£ 460.00	In Prelims
	proAV	Services	Technical Manager	£ 495.00	In Prelims
	proAV	Services	Design Manager	£ 450.00	In Prelims
	proAV	Services	CAD	£ 385.00	In Prelims
1	proAV	Services	1st Fix - Site Wiring/Installation	£ 395.00	£ 395.00
2	proAV	Services	2nd Fix - Equipment Installation	£ 395.00	£ 790.00
	proAV	Services	AV/IT Integration	£ 625.00	In Prelims
	proAV	Services	Delivery/Transportation		In Prelims
ENGINEERING / LABOUR TOTAL					£ 1,185.00
SYSTEM TOTAL					£ 13,333.18
<i>Price excludes VAT</i> <i>Subject to Site Survey</i> <i>E & OE</i> PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.					



System Quotation

Client: Surrey & Borders Partnership NHS Foundation Trust
Project / Site Name: 18 Mole Business Park
Date: 16/09/2022
Quotation Reference: 265252_REV C
Project Element: Wireless Device Option (Unit Price Quoted)

Qty	Make	Model	Description	Unit £	Total £
Source & Interfacing Equipment - Wireless Connectivity Options					
1	Kramer	VIA-CONNECT-PRO	Wireless Presentation and Collaboration Solution	£ 608.18	£ 608.18
1	Mersive	SP-8000-E5-EW	Solstice Pod Unlimited Users with 5 year Subscription and 5 Years Warranty	£ 1,998.75	£ 1,998.75
1	Mersive	SP-8100-E5-EW	Solstice Pod SGE (4 Users) with 5 year Subscription and 5 Years Warranty	£ 1,748.75	£ 1,748.75

Price excludes VAT

Subject to Site Survey

E & OE

PLEASE NOTE: Please be aware that due to supply chain challenges with hardware caused by the Covid-19 pandemic and global microchip shortage there is potential for programme impact.